Ramagundam Fertilizers and Chemicals Limited (RFCL)

Recruitment of Non-Executives (ITI Holders) in RFCL (Advertisement No. Rectt/01/2024 )
Question Paper Cum Answer Key for Written Test held on 7t April 2024
for the post of Attendant Gr. | (Electrical) (W-2) (Electrician (52))

Q.1. The synonym of the word ‘Amend’ is .

A). |Rectify [Correct Answer]

B). |Lower

C). |Break

D). |ignore

Q.2. The synonym of the word ‘Authentic’ is :

A). |Fake

B). |Unreal

C). |Accurate [Correct Answer]

D). |Corrupt

Q.3. The antonym of the word ‘Brittle’ is .

A). |Breakable

B). |Durable [Correct Answer]

C). |Delicate

D). |Crumbly

Q.4. The antonym of the word ‘Clever’ is .

A). |Capable

B). |Expert

C). |Adapt

D). |Stupid [Correct Answer]

Q.5. Select the mis-spelt word among the given answer options.

A). |Comittee [Correct Answer]

B). |Programme

C). |Schedule

D). |Departure

Q.6. Select the mis-spelt word among the given answer options.

A). |Continuous ] o
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B). |Valuable

C). |Coruption [Correct Answer]

D). |Eruption

Q.7. Fill in the blank.

Neither Manoj nor Harish found suitable for the job at the interview held yesterday.

A). |were

B). |was [Correct Answer]

Q). lare

D). |is

Q.8. Fill in the blank.

The little child was knocked by a car.

A). out

B). |up

C). |down [Correct Answer]

D). away

Q.9. The best expressed meaning of the idiom ‘Hand to mouth’ is

A). |to keep quite

B). |a state of poverty [Correct Answer]

©). |to relax and enjoy

D). |to eat without any disturbance

Q.10. One word substitution for group of words, ‘Animals which live in water’ is 5

A). |Territorial

B). |Arboreal

0. Aquatic [Correct Answer]

D). |None of these

Q.11. The young one of animal ‘Horse’ is known as c

A). |Foal [Correct Answer]

B). |Kid

C). |Fawn

D). |None of these

Q.12. The plural of the word ‘Tooth’ is .
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A). | Tooths

B). |Teeth [Correct Answer]
C). |Teeths

D). |Tooth

Q.13. The plural of the word ‘Species’ is

A). |Spectrum

B). |Specious

C). |Species [Correct Answer]
D). |Space

Q.14. The ratio between two numbers is 3:5. If each number is increased by 4, the ratio becomes 2:3.

Find the numbers.

T e & 9 B
2:3 B SaT 8 | §e&An

%:?%luﬁmﬁwﬁ4aﬁqﬁgaﬁw,?ﬁm§w

A). 12,20 [Correct Answer]
B). [18,30
€. |24,40
D). (27,45

Q.15. A triangle always has

e Rt ¥ e~

T 8 /8 E |

A). |exactly one acute angle.

fIohel Th JADI

B). | exactly two acute angles.

fAehet a1 =qHBIT

€). |at least two acute angles.

SH X BH al FADI

[Correct Answer]

D). |None of these

ERu I

Q.16. The average of 11, 12, 13,

14 and X is 13. The value of X is

11, 12, 13, 14 3R x &7 3ANGT 13 | X BT A4 gl
A). |15 [Correct Answer]
B). |16
0. |17
D). |19

Q.17. A person travelled 5/8 of the distance by train, 1/4t"by bus and the remining 15 km by boat.

The total distance (in km) travelled by him was _____

maﬁqgﬁs/aa;\ﬁdg%1/4Wﬁaﬁ?ﬁq15ﬁ7‘iﬁﬂﬁﬁma‘»’rlw¢m
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A). |90

B). 120 [Correct Answer]

C). |150

D). 180

Q.18. The angle between two perpendicular lines is .

T o XER B " BT BT —————— BT 2|
A). |o°
B). |30°
0. |60°
D). |90° [Correct Answer]

Q.19. Ratio is a method of comparing two quantities by .

IUT —————— ERT I AR B T Bl B TP Ay 2|
A). |addition

SIS
B). |subtraction

el
C). |division [Correct Answer]

HIT
D). | multiplication

TL'UT[
Q.20. Area of a circle with radius r units is equal to ___ square units.

35T + TPIT I TB T BT §FBA ————— T Pl D SO ol 2 |

A). (1/2)mr?
B). [Correct Answer]
C). |2mr
D).

Q.21. 72% of 25 students are good in English. How many are not good at it?

25 § 9§ 72% B AN ¥ 3w €| fHaw B g9 I 1E 87

A). |7 [Correct Answer]
B). |12%

0. |18

D). 22%

Q.22. Find the compound interest (In Rs.) on Rs.1000 for 2 years at 4% per annum?

1000 ¥TA R 2 I8 B oY 4% URT a9 @1 R § TPl A (TR H) TG B2

A). 8160 [Correct Answer]

B). 80.00

Q). [72.80
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D).

Q.23.

A).
B).
Q).
D).

Q.24.

A).
B).
Q).
D).

Q.25.

A).
B).
Q).
D).

Q.26.

A).
B).
Q).
D).

Q.27.

A).

B).

Q).

D).

70.60

Seema weaves 25 baskets in 35 days. In how many days will she weave 110 baskets?

A 35 Al # 25 SHRAT gt 21 98 e A1 7 110 SrofRafr gfi?

154 [Correct Answer]

145

132

128

A shopkeeper buys a toy for Rs.250 and sells it for Rs.285. Find his gain percent?

%gw%ogﬂﬁwmm%aﬁ?wzssmﬁm%lw

8%

10%

14% [Correct Answer]

16%

If 23% of X is 46, then find X.

IfE X BT 23%, 46 B, AT X S PIOY |

100

125

160

200 [Correct Answer]

Find the odd one out among the given four answer options.

foy 17 IR SR APl § | @19 49 Juirs 27

8 [Correct Answer]

Find the odd one out among the given four answer options.

fay 7 IR SR APl & 9 B9 491 Joe 87

Guwahati [Correct Answer]

NEIEE

Kolkata
PIABIT

Bhubaneswar

IR

Ranchi

NEIl
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Q.28. Complete the series A, C, F, ?, O, U by replacing ‘? with the correct alternative from the given
four answer options.

EWWWWﬁ'\'}['Tﬁﬂﬁ@TﬁﬁW’ﬂ@ﬁTA,C,E?,O,UEﬁW
I

A). ||

B). |J [Correct Answer]

C). |[K
D). |L

Q.29. Complete the series 1, 3, 6, ?, 15, 21, 28 by replacing ‘?' with the correct alternative from the
given four answer options.

aﬁﬁgmwwﬁmﬁ'\ﬁ 2 FReNid HRD @ 1,3,6,2,15,21,28 DI T
|

A). |9

B). |10 [Correct Answer]

0. |1

D). 12

Q.30. The present age of Manoj is 10 years and he is double the age of his sister. What will be the age
difference (in years) between them after 10 years from now?

TS B G a¥ & g @ g A ¥ 10 9§
A L T P R A b

A). |5 [Correct Answer]
B). |10
0. |15
D). |20

Q.31. Rohit’s mother has only two children. The name of one child is Virat, what is the name of
second child?

gﬁﬁaﬁﬁiﬁaﬁaﬂaﬁr%lwaﬁwwm%ﬁw%ﬁwmw

A). |Surya
Tt
B). |Siraj
RSt
C). |Rohit [Correct Answer]
Rifed
D). |Rishabh
ek

Q.32. Sakshi is twice as old as Laxmi. Three years ago, Sakshi was three times as old as Laxmi. How
old (in years) is Sakshi now?

AN i # oE e & A T o
Tl 2 o N L) e e N R

A). |6
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B). |8
Q.- |10
D). 12 [Correct Answer]
Q.33. If the day before yesterday was Wednesday, when will Saturday be?
IS WAl AR o, O IFER F9 BRI?
A). | Tomorrow [Correct Answer]
Pl
B). |Today
SIS
C)- | Day after tomorrow
Rl
D). |None of these
T 9 PIS T
Q.34. Going 40 meter to the South of his house, Shubham turns left and goes another 15 meter.
Then, turning to the North, he goes 20 meter and then he starts walking towards his house
which is in direction.
3T TX 9 40 HIex SR @Y 3R W g aTﬁaﬂgﬁg?ﬁT%agE\wswm
W%lﬁb—\' aﬁaﬂ?wa%'z% AT B W D foum #
T Y Bl © ol
A).  |North-east
IIR—d
B). North
IR
C). | North-west [Correct Answer]
IR
D). |East
a4
Q.35. Ais the father of C, and D is son of B. E is brother of A. If C is sister of D, how is B related to E?
ACH AT EARD,BHIYAE, E,A BT HE 21 IR C,D P FET 8, A B BT E
| T w87
A). | Sister-in-law [Correct Answer]
Rkl
B). |Brother-in-law
TR
C)- | Daughter
EE
D). |Mother-in-law
a4
Q.36. Mukesh is heavier than Ramesh but lighter than Ram. Bhuwan is heavier than Ram. Shiv is
lighter than Ramesh. Who among them is the heaviest?
ga‘m Tﬁgﬁﬂﬁ%ﬁ%wﬁwﬁlﬂﬂﬁ M | 9 2| RE, e | ger
IH | AR 87
A). |Ram
Rkl
B). |Ramesh
Rkl
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Q).

D).

Q.37.

A).
B).
Q).
D).

Q.38.

A).

B).

Q).

D).

Q.39.

A).

B).

Q).

D).

Q.40.

A).

B).

Q).

D).

Bhuwan [Correct Answer]

a4

Mukesh

il

If ADITI is coded as 54131 and SHOBA is coded as 26985, then how would you encode TISHA?

IS ADITI BT 54131 & WU ¥ HIfSd fHar AT & 3R SHOBA BT 26985 B ®T H
PIfed fHaT AT 8, O 3T TISHA BT DY ifed HuI?

32156

13625

21365

31265 [Correct Answer]

What is the new name of ‘Rajpath’ where Republic Day Parade celebration in Delhi takes place?

IST9T B RT A1 W & 17 w8t fieeh § oy gy ms 99RIg 2ir 87

Kartavya Path [Correct Answer]
P g

Sourya Path
NIRRE)

Adarsha Path
aresf Ter

Prakarma Path

EICR )

Virat Kohli is a famous player of India.

faxTe PIEe 9Rd B TP UIg ——————— RaaST 2|

Hockey
HEdl

Football

hcdlel

&

Cricket [Correct Answer]

fipae

Chess
KA

Birthday of Mahatma Gandhi is celebrated every year in India on

YR H B AT TSIl il BT Sifed ——————— I J9/-™T ST 8 |

14 November
14 9

02 October [Correct Answer]
02 IR

31 January
31 SHEET

25 December

25 fesqaR

Q.41. Imphal is the state capital of .

THlT ——————— 5T DI o 2 |
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A).

Manipur [Correct Answer]

AR
B). |Assam
3 H
€). |Mizoram
IESIRG]
D). |Sikkim
Raferrs
Q.42. South Asian Association for Regional Cooperation (SAARC) is an association of nations.
Tferor TRRTE &3 WEANT WY (SAARC) —————— S| &I U 99 2|
A). g
B). |7
€. |8 [Correct Answer]
D). |9
Q.43. World famous ‘Statue of Unity’, world’s tallest statue, built in the memory of Sardar
Vallabhbhai Patel is located in .
wwﬁqﬁaﬁiﬂ%ﬁ?ﬁwm@qmqﬁﬁ,gﬁmaﬁw
S ufod r —m8M8M8 ﬁ Rera [
A). Gujarat [Correct Answer]
NENG]
B). |Maharashtra
HeRTS
C).-  |Rajasthan
RTSTRIT
D). Karnataka
PHeCh
Q.44. President of which country was the chief guest for India’s Republic Day parade celebration on
26 January 2024?
263%&2024@%?@@%@3@@3%3@&%@%%&1%
A). |italy
B)-  Egypt
i
0. |Qatar
B
D). |France [Correct Answer]
i
Q.45. Which part of the plant is called its food factory?
SAsEdl CARSCIN] VllCll &f
) B f5d 97T B e HE 4
A). |Leaves [Correct Answer]
At
B).  Flowers
el
C). |Roots
S
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D). Stem

Kl
Q.46. In human body, blood is filtered by the

AT IR H —————— GRI b Bl fheex fHar < 2|
A).  |heart.

'l
B). kidneys. [Correct Answer]

T
). lliver.

SIEKS
D). brain.

aRass
Q.47. Process of changing water vapor into water is called .

ST I U H IS B AfHAT B ———————— HBT T 2 |
A). [filtration

e
B). |condensation [Correct Answer]

NERE
€).  |sedimentation

SENIES]
D). |decantation

AR
Q.48. In a battery cell, the energy is stored in it in the form of energy.

TP < 9 § Foll, ——————— ot ® BY A G 2B 2
A). |electrical

faera
B). | mechanical

RIEED
C). |chemical [Correct Answer]

RNNIRINED
D). |solar

Rl
Q.49. The Earth completes one revolution around the Sun in about one

9], F B ARI AR T FIHY AT & ——————— H QR H<ahl o
A).  hour.

e
B). day.

Sl
C)-  |month.

qEN
D). year. [Correct Answer]

EL]
Q.50. In India, which house of the Parliament is also known as “the House of the People”?

ARd # 69 & {59 9T BT ‘SFar ST G W BT ST 87
A). |
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B).

Q).

D).

Rajya Sabha
NTSTTHT

Lok Sabha [Correct Answer]

SIERSEI

Both, Rajya Sabha and Lok Sabha
ISITAT 3R ofipsqar, g1

None of these

T | PIE TE

Q.51. In poly-phase circuits, what determines whether the load is balanced or unbalanced?

A).

B).

Q).

D).

Urdi-oe wfbe #, 98 Fa1 feiRa &xar © & drs wgfera g a1 sgfera 27

Current [Correct Answer]
EIRT

Voltage
arecst

Phase angle

B BT

Power factor

ol Tch

Q.52. Which component is responsible for converting electrical energy into heat in heating element

A).

B).

Q).

D).

equipment?

m?wﬁﬁgﬁwﬁaﬁmﬁqﬁaﬁam$mﬁﬂww

Capacitor
HeRA

Diode
SIRIE]

Transistor

ZifoTeR

Resistor [Correct Answer]

7RI

Q.53. What is the name of the device that allows current to flow in one direction only?

A).

B).

Q).

D).

g‘;qwmww%ﬁwﬁmwﬁmﬁw%amﬁaﬁaﬂﬂﬁw

Transistor

gifoeR

Relay
Ret

Diode [Correct Answer]

SRS

Inductor
ST

Q.54. In a DC circuit, if the voltage is 12 volts and the resistance is 4 ohms, what is the current

A).
B).

flowing through the circuit?

%&%ﬁ%ﬁ%ﬁm%%aﬁ?m4aﬂﬂ%ﬁﬂ%$wﬁ

8 A

16 A [Correct Answer]
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Q).
D).

Q.55.

A).

B).

Q).

48 A
3A

How does an LED differ from a regular diode in function?

TH Tolssl R A fFafdd sRis 9 faa yor = 27
It converts electricity into light [Correct Answer]
Ig fastell &I udbrer & uRafia &=ar &
It blocks all current

Ig I PRe Bl wild B ol ©

It allows current to flow in both directions

AT GRT BT <A el § yarfed &x+ &) SAfT <l ©

D). it converts light into electricity

g YHTY DI faorell # yRafda wear &
Q.56. In a series circuit, what happens to the total resistance as more resistors are added?

TS S uRuer ¥, e URRING S5 R Go AR &1 F47 8T &7
A). It decreases

FH B I ®
B). it fluctuates

IAR—ISd BT ©
Q). |ltincreases [Correct Answer]

Jeil &
D). |it remains constant

Rer vear @
Q.57. Which characteristic of an alternator is crucial for ensuring synchronization during parallel

operation?

E%?wmmw g ' : ? oo
A). Frequency [Correct Answer]
B). |Voltage

dreca
Q). | Power factor

Fl gch
D). |cCurrent

PRC
Q.58. What is the name of the given circuit?

fay v afe @1 w9 w87
A). | Amplifier circuit

THAHRR Afdhe
B). Chopper circuit [Correct Answer]

4R Afde
C).  |Rectifier circuit
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fFeHRR Hfhe

D). |Inverter circuit

g=Icx Wfde

Q.59. Which type of fire extinguisher is suitable for electrical fires?

e o @ forg 5w ueR &1 siffeme I3 Sugw 77

A). |Class A
T A
B). |Class B
T B

C). |Class C [Correct Answer]
FoIg C

D). |Class D
Fg D

Q.60. What is the name of the component that is used to store electrical charge in a circuit?

I ICH H] M R 2 e START |fdbe § fagd smawr o §uga a1 @ forg
foar Smar 272

A). |Resistor
SENES
B). Capacitor [Correct Answer]
NEUEE]
C). |Diode
SIRIS
D). |Transistor
gifoeR

Q.61. Which of the following is not a type of conductor commonly used in electrical applications?

mﬁggmwmwﬁgﬁmﬁwmmwm

A). |lron [Correct Answer]
SIS

B). |Copper
SISl

C). |Aluminum
HeGHITIH

D). |Silver
GIE

Q.62. What does a circle with a cross inside, represent in an electrical schematic?

faega v # sfer U@ i 9T g9 1 ST ©7

A). |Outlet
¢TI

B). |Light Fixture [Correct Answer]
Tl ReRdr

€). |Ground Connection
ShikIICRENE]

D). |None of these
T 9 PIE T
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Q.63.

A).

B).

Q).

D).

Q.64.

A).

B).

Q).

D).

Q.65.

A).
B).
Q).
D).

Q.66.

A).
B).
Q).
D).

Q.67.

A).

What is the name of the tool that is commonly used for stripping insulation from electrical
wires?

gﬁ%wﬁ%mwmwm$mﬁm

Screwdriver

PECRil

Wire cutter

dIN hl DhcN

Pliers

forrer

Wire stripper [Correct Answer]

AR RgwR

In an AC circuit, what is the phase difference between voltage and current in a purely resistive
load?

%%gﬁﬁ,mmﬁmﬁmﬁm@?aﬁe%%ﬁﬁww

0 degree [Correct Answer]
o f&l

90 degrees

90 &

180 degrees

180 f&f

45 degrees

45 fSI

If a circuit has a resistance of 20 ohms and a voltage of 100 volts, what is the current flowing
through it?

Hﬁﬁ?\gﬁ%%%ﬁymaﬁ?wo dice &1 dlecol ®, Al 9@ ArgH 9

80 A

120 A
500 A

5 A [Correct Answer]

If an electrical appliance consumes 500 watts of power and operates at 120 volts, what is the
current flowing through it?

?%ééﬁgﬂqwso%ﬁmmﬁa%%@gwﬁeﬁmzomwmﬁ

40 A
120 A
417 A [Correct Answer]

500 A

What color is typically used for indicating ground wires in electrical installations?
FAfdehd ST § TS dRI & 3RIT &1 @ oIy R R e 1 &1
SYANT fdar ST 87

Red
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offel

B). |Green [Correct Answer]
BxIl

C). |Yellow
drer

D). |Blue
et

Q.68. Which process involves breaking down heating element equipment into its individual
components?

fora afhar § AT dT SUPRUT B SHD AT TSH | dlel AAT 87

A). | Soldering
<o @ fopar

B). Dismantling [Correct Answer]

C). |Welding
afesT

D). |None of these
ST | PIS T8

Q.69. Which type of induction motor is shown in the below image?

9 & ¥ Bfa F frd R P sswE AR @ T 87

A). | Three-phase induction motor [Correct Answer]
9 BROT IROT HeR

B). |Single-phase induction motor

RATA B9 SSRM AR

C). | Synchronous induction motor

TBIAD IROT Al

D). |Series induction motor

SRGEAT IROUT AR

Q.70. In an MG set, what is the function of the motor?

Tl ¥ ¥, AR 3 P T 87

A). |To generate electrical power
faera oifth S axe & ot

B). |To convert electrical power into mechanical power
faea wfth @1 A3 wfe # aRafda e
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C). | To provide mechanical power to drive the generator [Correct Answer]
STFNER Bl Fel @ ferq Al wfh F&r e

D). |None of these

T 9 BIg T

Q.71. What is the main function of diodes in a bridge rectifier circuit?

fior MacwrR |fde § SHe &1 §= o | 87

A). o regulate voltage

diecs @l fAFafE & & fog

B). |To convert AC to DC [Correct Answer]
AC &1 DC H 9o & forg

C).  |To generate alternating current

JATa] TR S~ HH & forg

D). |To provide amplification

JaEH IaTE PR

Q.72. What is the name of the motor that rotates at a constant speed synchronized with the
frequency of the supplied AC voltage?

%mgmﬂmw%aﬁaqﬁaﬁﬂéwmaﬁaﬁﬁr$wﬁmﬁﬁ

A). Synchronous motor [Correct Answer]
RigpHad Hiex
B). |Induction motor
SaRE Hiex
€). |DC motor
DC Hiex
D). |universal motor
I aHer Hex

Q.73. Which component of a generator produces the magnetic field required for electromagnetic
induction?

g;%awaﬁﬁwwﬁgagaaﬂuﬂwa%WWWMWW

A). |Commutator
BRICR
B). | Armature
3R
C).  |Rotor
AR
D). |Field winding [Correct Answer]
Ties arsfeT

Q.74. In which phase of electrical installation are wiring accessories like switches and sockets
typically installed?

Wﬁﬂ@%@ﬂﬁﬁﬁﬂ@?ﬂﬁfﬁﬁﬁﬁﬂﬂwwmw

A).  |Planning phase

IS TROT

B). |Testing phase

TRIET TR

C).  [Final fixing phase [Correct Answer]
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ifas foerivor =Ry

D). |Cable laying phase
Sael BT &1 =R
Q.75. Which test ensures the continuity and insulation of various AC motors?
BN 1 e R ac ARt Y Bifeggd sk s=goiee giRea avar &7
A). |Polarization Index (Pl) test
JreRTgole™ §sa (PI) X
B). |Power Factor (PF) test
QR Haex (PF) S
C).  |Hipot (High Potential) test [Correct Answer]
e (818 UeRre) <<
D). |None of these
ST I BIg T2
Q.76. Which component is commonly used for overload and short circuit protection in electrical
circuits?
ggmﬁmﬁﬁ IR @i wfbe W & fog AR R &9 g @t
e ST 87
A). |Fuse
T
B). |MCB [Correct Answer]
AT
C). |Contactor
Picaex
D). |RCCB
SISSSINIE]
Q.77. What is the purpose of the below techniques in electrical work?
faga o & frafaRe a@ol &1 Seed 941 &7
A). | To increase resistance in the circuit
|fve # ufcRY e @ fog
B). |To decrease conductivity
ATABAT HH FRA B forg
C). |To generate electricity
fastell a1 & & forg
D). |To connect conductors securely [Correct Answer]
Q.78. In power electronics, what is the function of a snubber circuit?
IR Soiaeifaed §, TR 9fde Bl T SR 87
A). |Voltage regulation
drecl SfSfRM
B). |Current amplification
EEGRCER]
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Q).

D).

Phase shifting
IROT RATHIAROT

Surge suppression [Correct Answer]

gfg <=

Q.79. In a parallel circuit with two resistors, if one resistor is 6Q and the total resistance is 2Q, what is

A).
B).
Q).
D).

the resistance of the second resistor?
A FRREP I TH FHHIGR TRYY ¥, IR T gRRES 60 & 3R BT IRR
2Q B, O T IfcREe &1 ARy Fa1 &?

40

6Q

3Q) [Correct Answer]

8Q

Q.80. In a voltage stabilizer, what is the main function of a relay?

A).

B).

Q).

D).

s TIasoR ¥, Rel &1 7= S |1 87

Control switch operation [Correct Answer]

BRENRISERSEISE!

Regulate voltage

qrecst B BT B

Provide backup power
JHIY TR YT BT

Monitor temperature
AIAE & R 6T

Q.81. Which component of a distribution system protects against overvoltage?

A).

B).

Q).

D).

faaRoT Yol BT P19 9T Teh AMaRdleeST A I 27

Capacitor

HeTRA

Resistor

KEREE)

Inductor
EISEoN

Circuit breaker [Correct Answer]

gRuer faareTd

Q.82. Which type of fitting is used to join electrical wires together?

A).

B).

Q).

D).

faea ARl ® auw F S @ oY f5E yHR B BT B SUET fHar S 82

Resistor

7RI

Connector [Correct Answer]

RIS

Fuse
st

Capacitor
RiCIIEE]

Q.83. In an electrical circuit, what does an ammeter measure?
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faer aRuer § wiex & Agar 87

A). |Voltage
drecol
B). |Resistance
fcrRTer
C). |Power
EIEN
D). |Current [Correct Answer]
PR
Q.84. For speed control of DC motors, which of the following is widely used?
DC Are’t @t fa fiEer & forg feafefad § & feaer aue wu @ Swn &
ST 27
A). Thyristor control [Correct Answer]
ATgRER 10T
B). |Gear system
FRR gormelt
C).  |Hydraulic couplings
RESIGEACRISR
D). | Pneumatic control
CIRCICARPEN
Q.85. If the resistance in a circuit remains constant but the voltage increases, what happens to the
current?
g?ﬁqﬁwﬁmﬁ@l?w%éﬁﬂq\mém 9T 2, Al BNS BT T Bl
A). | Current decreases
FRC FH B A B
B). |Current becomes zero
BT I B T B
C). |Currentincreases [Correct Answer]
HRT Tl &
D). |Current remains constant
e ReR v&ar ®
Q.86. When two or more resistors are connected end-to-end to form a single path for current flow,
what type of circuit configuration is created?
W9 <1 1 Q¥ AP el 9§91 & forg siq—a—aid
% 93 8d o, O WWW'\H%EWHWT%
A). | Parallel circuit
FAFIR Afdbe
B). |Series circuit [Correct Answer]
RIS RSIETS
€). |Combination circuit
| Afbe
D). |None of these
T 4 BIg T
Q.87. In a poly-phase circuit, what is the phase difference between two adjacent phases in a three-

phase system?

TP 9g—oRYT |fdbe H, TT—aR0T Joell & Q) S~ =A=0N B dra =ROT SR AT &7
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A).

B).

Q).

D).

120 degrees [Correct Answer]

120 f$U

90 degrees
90 f&7

180 degrees
180 f&ul

360 degrees
360 f&3f

Q.88. Which technique is used for speed control in alternators?

A).

B).

Q).

D).

IR ¥ Y =T & fog fed doeile &1 SR fhar e 87

Varying the voltage of the input power
$IYC UTER BT dlecol 9eatHT

Adjusting the armature resistance

TR ORI DI FATASTT BRAT

Changing the number of poles [Correct Answer]
gal @ A=A gEAT

Varying the frequency of the input power
$YC UTeR Bl AGRT BI g5

Q.89. What does a low resistance reading on a multimeter indicate?

A).

B).

Q).

D).

A ey W &9 vfoRre QST Far it 27

Open circuit

el wfdbe

Short circuit [Correct Answer]

o wfdbe

Good insulation

3BT FGere

High resistance

SizRINNE]

Q.90. What does a high resistance reading on an insulation tester indicate?

A).

B).

Q).

D).

S Wigd R S URR AT 71 R ot 27

Good insulation [Correct Answer]

SRS G

Poor insulation

R $RICTIH

Short circuit

ome wfdbe

Open circuit

Qe Afdbe

Q.91. During continuity testing, if a circuit is open, what reading would typically be observed?

A).

B).

Q).

ﬁiﬁ@ﬁﬂ%ﬁ?ﬁ,ﬁﬁgmwﬁ,ﬁmwﬁﬂﬁﬁ%ﬂé@

0 volt
0 dleT

Infinite resistance [Correct Answer]

3 q gfoRIe

High current
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I PR

D). |Low voltage
FH dlecal
Q.92. What is the function of conduits in electrical wiring systems?
faga araReT yonferl § Segcw &1 ®I1 I &7
A). |To increase electrical conductivity
Il arerdar 9gM @ forw
B). |To reduce voltage fluctuations
dlecsl @ SAR—AGIA DI HH B B folg
C). |To regulate electrical flow
fagrd ware @1 fAfafa o 3 fog
D). |To protect wires from mechanical damage [Correct Answer]
AR @I Fie & | gor & forg
Q.93. Which wiring accessory is used to join two or more electrical wires together?
ﬁmﬁﬁa%ﬁggaﬁﬁww@@$%q%amﬁﬂww
BT forar ST 87
A). | Switch
Rerm
B). |Connector [Correct Answer]
RISED
C). |Socket
HAide
D). |Fuse
WIS
Q.94. What does the symbol represent in electrical wiring diagrams?
g T s # whe @ wfar @7
A). Ground [Correct Answer]
IS
B). |Fuse
RSt
€. |Switch
Re=t
D). |Transformer
i .
Q.95. Which material is frequently employed as an insulator in electrical wiring?
g IRl # SYoiek & WU H B9 ARl &7 S/awR SUIRT fhar S 87
A). Silver
EIE
B). |Aluminum
SegHITTIH
Q). |pvC [Correct Answer]
BICIKl
D). Copper
dfar
Q.96. According to Ohm's Law, what happens to the current in a circuit if the resistance is increased?

M & oW & o NR, Ife gfRiy se1 faam &g < |fde 3§ ar1 &1« srm?
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A).

~

Current remains the same
PNc I8l XEdT B

B). |Current decreases [Correct Answer]
FRC B B ST
C). | Voltage increases
Ao g¢ ST §
D). |Current increases
T ggdl B
Q.97. Which type of resistor has a resistance value that changes with temperature?
P9 TOR & UfRE® &1 ARRY 919 99 & AR 98l 87
A). | Carbon film resistor
HTE e 3raRIed
B). |Variable resistor
RIEECIRCENEED
C). |Wirewound resistor
TR AUCH dTell JTaRIEd
D). |Thermistor [Correct Answer]
IfiRex
Q.98. Which of the following is the most appropriate action when encountering a frayed electrical
cord?
Bl Siolk faga aR &1 AFFT _d T Frefofed 3 9§ o9 9 dRars 999
SWH &7
A). | Replace the cord immediately [Correct Answer]
BIS BT R FEAT
B). |Wrap the frayed area with a cloth
we BU R @ dUS 9 e
C). |Use electrical tape to cover the frayed area
e gU &7 Bl b & foU foeiell & TU BT SUINT Bl
D). |Cut off the frayed section and splice the cord back together
<< BU W1 &I Bl A1 3R SR I qIH SIS oAl
Q.99. What type of earthing is commonly used for electrical safety in buildings?
gﬂ;ﬂﬁﬁﬁgﬁgvma}ﬁwmwﬁmwaﬁa&hmwmw
A). | Pipe earthing
RIERRCIR
B). |Rod earthing
NEESIRRI
C). |Plate earthing [Correct Answer]
wie 3T
D). |Chemical earthing
NEIRIGERSIRRI

Q.100. Which law describes the total current entering and leaving a junction in a circuit?

A).

ﬁﬁﬂ%?ﬁwﬁvﬁieﬁWﬁmmeﬁ?@@mGﬁwwmm
HT o7

Ohm's law
JH BT
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B). Kirchhoff's law  [Correct Answer]
foaie &1 e

0. Faraday's law
BRTS BT e

D). Newton's law
=ed &1

Q.101. In the Sl system, what is the unit of luminous intensity?

TH.3TE JOIell H, Soodel digdl & dA=d a1 sl 27

A). Lux
[<SExl
B). Candela [Correct Answer]
DSl
0. Lumen
Skl
D).  |watt
qic

Q.102. Which law states that emf generated according to Faraday’s law is negative?

BN A1 79 varar | 5 OIS @ oW @ ogER S $uHTe ANfed /7

A). Lorentz Law
AR &t

B). Lenz' Law [Correct Answer]
of &t

0. Faraday's Law
RIS At

D). Ampere's circuital Law
TARR e

Q.103. What amount of charge can flow in 1 unit of current?

1 SIS ORT § fHasl A= BT G yared a dohdr o7

A). 1 coulomb per second [Correct Answer]
1 T UfT Ahs
B). 1 ampere per minute
1 TR vt fime
0. 1 coulomb second
1 AN DS
D). 1 ampere minute
1 TR fime

Q.104. What is the primary function of armouring?

SId DT UIHD BRI w7 27

A). To protect copper sheath of cable from corrosion.

P B did b IRV Bl ST A g9+ & fofv

B). To protect cable from moisture in the soil.

PBacl B L F 0 9 99 @ v

0. To provide the cable more flexibility.
D9 B AAH FAAIA T A B fog

D). To protect cable from mechanical injuries. [Correct Answer]

Bl BT b alel F g b forw
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Q.105.

With reference to the given image, when light from lamp 1 becomes dimmer and light from
lamp 2 becomes brighter, which phase sequence is determined?

S TS TIAIRT S o 2 Y

A). R-Y-B [Correct Answer]
B). R-B-Y
Q). Y-R-B
D). Y-B-R
Q.106. How come a conductor has no magnetic field?
N Peaer & U BIS JIIT &F DA TEI BIAT?
A).  |Because of the motion in charges.
= | T B HROT
B).  |Because it stores energy when kept in a magnetic field.
i IO &5 H I IH W T8 SHoll R Rl §
Q). Because electrons remain at rest on the surface. [Correct Answer]
T Seiael s IR fasma araRen ¥ &d €
D).  |None of these

T | PIS TE

Q.107. With reference to the given image, if R2/R1 is equal to R4/R3, what will be the voltage

A).
B).
Q).
D).

between the two points C and D?

@ TS By & ol ¥, IR R2/RL,R4/R3 S RR 8, @ QU Nigeli ¢ iR p & d=
decSt a7 BIT?

a./ \"’

Wheatstone's Bridge

V(G) = 1V

V(G) = 0 [Correct Answer]

V(G) = 2R1

V(G) = 4R1

Q.108. What is the unit of magnetic flux density?

IO UaTE °cd DI gHIg AT o7
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A).  |Watt
dfe
B). |Volt
qree
Q). Tesla [Correct Answer]
XA
D). | Ohm
S
Q.109. Which type of electrical joint is shown in the given image?
92 & 7E B # 59 yeR &1 faga s fR@mr w2
A).  Twisted joint
feawcs e
B). Married joint [Correct Answer]
aRs e
C).  |Straight joint
e Sy
D).  |Western union joint
e e e
Q.110. Which test is best for identifying a cable failure that is difficult to find?
Wﬁmaﬁqﬁﬁmﬁfﬁﬁwaﬁqwqﬁwaa\ﬁw%mm
qiewd 382
A).  |VLF test
dIveTys eve
B). |Sheath test
NP
0). PD test [Correct Answer]
9ISl S
D). |Open circuit test
3+ wfdhe S
Q.111. What challenges are faced in the field of power electronics?
TR golagivad & &3 # & gl &1 |\ SR edn 87
A). | Compact design
Ella RSl
B).  |Highly reliable
grgell Refgudct
C). |Less control over power
Sl IR B FEAT
D). |Thermal management [Correct Answer]
o e HIuTHE
Q.112. What is the role of the given logic gate?
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9 |ifoT® AT B a1 BT 82

NAND

A). | Allinputs must be positive, and all outcomes are positive.
T §YC WHRIAD 81 A1RY 3R T4 IRUM AHRIHS 81 AT

B). |Same as AND, but the outcome is inverse. [Correct Answer]

AND & 9, oife gRomg faudig 8

0. Only one input is positive to give a positive output.
AHRIAD 3MMSTYE <1 & oI dael Th Y AHRIHD

D). | None of these

T AR T

Q.113. When designing moving instruments of the attraction type, what is the use of the piston?

gy&wwa%wﬁﬂﬁvmvﬁaﬁﬁmﬁmﬁwﬁmﬂwwm

A). | To exhibit excellent magnetic permeability.
SO FIHII IR TR A & forg
B).  |To control the sensitivity of the instrument.

SUBROT BT Fae-eierar T P wxa & forw

Q). To ensure that the moving iron moves smoothly and without any resistance. [Correct Answer]

g gRad & b wfoeiia o' qore w9 iR {391 o) vfeRiy & @

D). | None of these

39 A PIS el

Q.114. What is the function of CRT in the below image?

9= & 7€ Bfd § crT BT T DR B?

CRT
Input Vertical
Signal Amplifier

Internal
Syne

External
yne

Sawtooth Horizontal
Sweep Amplifier

A). | To accelerate the electron beam to create an image. [Correct Answer]

U B g9 & Y gelaaiv fbROT Bl dS BT

B). | To produce the saw-tooth voltage waveform.
A< dlecol TR JahiH

Q). To supply the required operating voltages to all circuits.

) Afdhel B rawd AR arecst @ amgff &=er

D). | None of these

T A IS 76

Q.115. What is the Sl unit of thermodynamic temperature?

HTSRAAG dYH &1 SI Shls 9T 27

A). Lux
oFRT
B). Candela
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Bl

C).  |Lumen
Ul

D). Kelvin [Correct Answer]
Bfca

Q.116. What is the meaning of the expression dg / dt in the formula V1. = —N (d¢ / dt) of self
induction?

W—IRT & GF VL = -N (do / di) H ARG do / dt BT T 3ef 87

A).  |Induced voltage in volts
dlee # IRT dlees

B).  |Number of turns in the coil
Pigel H TAMT BT A&

0. Rate of change of current

PRC W 9@ B R
D).  |Rate of change of magnetic flux in webers per second [Correct Answer]

A AP 99 H FIDHIF Yar8 & gRacd bl &%

Q.117. Which of the following is a type of film capacitor?

frfaRag § 9 @19 91 U6 YaR 3T fhed Hufdiex 27

A). Electrolytic capacitors
SAdCIATSCd HURTER
B). Ceramic capacitors

Rrfas dufiex

Q). Axial style capacitors  [Correct Answer]
UfRae 3egd duRTeR

D). Paper capacitors
PRI HURTE

Q.118. Match the related terms given in Column 1 to their respective definitions given in Column 2.

e 1 § Ry T G vl @Y Bfed 2 § &) T ST Heferg gRumere | Ay |

A). 1-B, 2-C, 3-A

B). |1-A 2-C,3-B [Correct Answer]

Q). 1-A, 2-B, 3-C

D). 1-B, 2-A, 3-C
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Q.119. In which process does the voltage difference arise between the two ends of an electric device
as the charge’'s movement slows down?
ﬁmmgm%f?ﬁwﬁrmmwﬁgawa%ﬁma%mm

Y S~ !

A).  |Power transmission

faera awwor

B). Potential difference
FHTfae 3R

0. Voltage drop [Correct Answer]
dlecol Ted

D). |Voltage stability
drecal Rerar

Q.120. What does a resistor symbol in a circuit diagram resemble?

Hide SuM # YRy R fea9 fierar g 27

A). | Astraight line

TH ¥5C olgd

B). | Azigzag line [Correct Answer]
T AT @rg

O). |Acircle
e Afdhd

D). |Atriangle

0% SR

Q.121. Where does the oxidation reaction take place in an electrolytic cell?

SoagIcSied Aol H SifaiIpxor ufafshar waf 2 27

A). Anode [Correct Answer]
LIS

B). |Cathode
DA

C).  |Anode and cathode both
IS 3R BT gHl

D).  |Electrolyte
ENEFNIES

Q.122. Which of the following is represented by the symbol "¢" ?

frfafed # 4 &9 "« udlie gRT <R ST 82

A). Electromotive force [Correct Answer]
NEERIERR]

B). Electromagnetic field
ERERICEGE]

0. Electrostatic force
SAdER e B

D). Electrical circuit
soifdgdma Afbe
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Q.123. On what principle do solar cells work?

iR ¥ fea Rigla W 1 o 82

A). Photoelectric effect
gorel fagd uvma
B). Photo-voltaic effect [Correct Answer]
®BIel dlecgd THTd
C).  |Magnus effect
HITH U49Td
D).  |Hall effect
EEELIC]

Q.124. What type of magnet does a moving iron instrument use?

el die SUBRYT fhd UHR & gadb BT SYART FHRaT 87

A).  Permanent Magnet
SIRIEGED

B). Coil as an electromagnet [Correct Answer]
U fed g ® wU H Digd

€).  |Bar Magnet
IR TP

D).  |Superconductor Magnet
. o

Q.125. In which units can inductive and capacitive reactances be measured?

IS IR Hufifea ufafhare @1 f&= sarzal § AT o 9Hhar 27

A). | Amperes

TAIRR

B). |Watt
dfe

0). Ohms [Correct Answer]
Skl

D). None of these

19 A IS 7

Q.126. Which type of error arises from improper apparatus settings or incorrect observations?

IR SUHRT /ST AT TAT SAIH W fHH UBR A Ffe S Bt 72

A). Observational errors [Correct Answer]
Sffesraea Ffe
B). Gross errors
ura e
Q). Instrumental errors
sghicd Ffe
D). |Random errors
Yo Ffe

Q.127. Which electric circuit is used for higher power consumption in air conditioners?

%?WﬁWWWE%WWWWWWW

A). |5 Amperes current rating circuits

5 TAIRR dre T Afdve

B). ‘10 Amperes current rating circuits
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10 TRIRR e e |fdre

0). 15 Amperes current rating circuits [Correct Answer]

15 TAIRR e e Afdbe

D). |20 Amperes current rating circuits

20 THRR PRe ST Ffve

Q.128. What is the function of the operator interface component in AC drives?

AC $159 ¥ IRTR SRBY TSP BT FT BRI 87

A). To manage the motor's speed by transforming utility power into adjustable frequency power.

Ffefordl ot &I rSoRedd Widddl 3fts § gRaftid &xd Al T T BT Td B

B). To control the motor's operation by motor control inputs and outputs. [Correct Answer]
Q). To convert the electrical power into mechanical power.

golfdedel UraR 1 Hebf-ibel rar H URafd =

D). None of these

T A B Tl

Q.129. Match the electrical wiring accessories given in Column 1 with their respective uses given in Column 2.

Hied 1 % RY Y figy arf & W™E & Biam 2 § Ry U S |6t Swr | A

A). 1-B, 2-C, 3-A [Correct Answer]

B). 1-A, 2-C, 3-B

Q). 1-C, 2-B, 3-A

D). 1-B, 2-A, 3-C

Q.130. What is the advantage of alternating current over direct current?

SRRAT FRC B ol ¥ AT B BT T AN 872

A). It flows in one direction in the circuit.
Tg wfe # v& fawm # yarfRd rf

B). It travels long distance and can provide more power. [Correct Answer]
TE o) g T FXaAT 2 AR 31fd wRG weH wR AdhaT §

C). It can be stored in batteries.

S 98 A WR fHar o1 gadr &

D). None of these

T A B T

Q.131. What is the effect of an improved power factor on the voltage drop in the transmission line?

ST s ¥ diees 1Y UR 980 UTaR Baex BT T UH1T sl 87
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A).

B).

Q).

D).

Increases
gedl 8

Decreases [Correct Answer]
Tedl §

Remains Constant
U A X&dl

Zero
LI

Q.132. Which test is used for the inspection and testing of wiring installations?

A).

B).

Q).

D).

A. Earth Continuity Test
B. Signal Testing
C. Insulation Resistance Test

TR gfasemi & fARer ik weor & forw e e &1 SuaT far i 87

A I R
B. Rrear weqor
C. $goIe AfcRI eror

A and B
A 3R B

B and C
B @ik C

A, Band C
A, Bair C

A and C [Correct Answer]
A @R C

Q.133. What number of valence electrons in an atom makes it a semiconductor?

A).

B).

Q).

D).

Bl oA § ool golagEl @ fhae e S enfarad I 77

Atoms with fewer than four valence electrons

IR | HH doid geldeid drel ver

Atoms with more than four valence electrons

IR I AP ToiF SIFel ITel Ter

Atom with zero electron
Y geldeiA arell UeH

Atoms with four valence electrons [Correct Answer]

IR FATSTHAT ST qTel Ter

Q.134. How is it possible to achieve constant flux to maintain speed control of a 3-phase induction

A).

B).

Q).

D).

motor?

3—@%@?%&%@%@@#%%&%%%%%
HHq 87

By changing the frequency
B TEeTBY

By maintaining v/f constant [Correct Answer]
v/f diRce 1T TGH

By converting AC into DC
AC &1 DC # uRafdq ava

By changing the voltage

EISSSRCETER
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Q.135.

A).
B).
Q).
D).

Q.136.

A).

B).

Q).

D).

Q.137.

A).

B).

Q).

D).

Q.138.

Which of the following is the biasing condition of the PN Junction Diode for the given circuit?

forfoaa 4 @ a1 afbe B SR SRS &t Rerfey 82
A. Forward biasing/qu?rgl%‘ WW e I

B. Reverse biasing/Rasi arafiT
C. Zero or Unbaising/SIRY a1 Sam™aRiT

A
B [Correct Answer]
C

Both A and B
A @R B Tl

Which type of circuit connection is shown in the given image?

Bl # IR f5d UPR &1 IfPe FAwE fErr 1 87

MWW

Star connection

TR HaeH

Delta connection

Sl BT

Star-delta connection [Correct Answer]
TR—IeTT B

Delta-delta connection

Socl—Soal hIaR

Which of the following methods is used to measure medium resistance (1¢; to about 100 k¢)?

T UfRE (1@ | ST 100 ko) 9 719R & fov F=falRag § ¥ faa fafyr &1
ST fHar ST 87

Direct Deflection Method

IRNTE feuerae fafer

Loss of Charge Method

S =Tt fafy

Megohm Bridge

LICLRES

Wheatstone Bridge [Correct Answer]

e o

Which type of special circuit diagram is shown in the given image?

frd yeR &1 fa9y GfPe mw = fearr ™ 87
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A).

B).

Q).

D).

Tunnel wiring circuit

ool IR Afde

Godown wiring circuit [Correct Answer]

TS arRINT Afdhe

Corridor wiring circuit
PIRSR qrEaRT Afdhe

None of these

T A IS 7

Q.139. In which type of lamp, the emission of light can be caused through filament heating?

A).

B).

Q).

D).

frd YR & g § fharic AT D Ag9 | UD T Scqoi 8 Gl 87

Mercury-Vapor Lamps

RPN TR

Fluorescent Lamps

TR P

Incandescent Lamps [Correct Answer]

s

Tungsten Halogen Lamps
SIS Bellol ol v

Q.140. Which type of wiring consists of ordinary VIR or PVC insulated wires that are installed on the

A).

B).

Q).

D).

walls and ceilings?

Eﬁ%ﬁgwmmmmmwﬁﬁﬁﬁm

Cleat wiring [Correct Answer]

Fole qrafeT

Batten wiring

g qrafT

Casing and Capping Wiring
SR AR Bt g

Lead Sheathed Wiring
RISIPICIRIES

Q.141. Which waveform is commonly used to represent AC voltage and current?

A).

B).

Acgéaaﬁ?aﬂ'eaﬁasﬁa%mam?ﬁ?wma@mmmwﬁm
ST 87

Triangle wave

o dd

Square wave
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SR 99

0). Sine wave [Correct Answer]
wrg dd

D). |Sawtooth wave
NI G|

Q.142. Which of the following techniques is commonly used for soldering electrical conductors?

¥ 9 oF A dble AHAR Heac] Bl Tl C3
- G 2 w fag SRR (9

A).  |Brazing
EliSiRl
B).  |Riveting
XafeT
C).  |Welding
qfeeT
D). Soldering [Correct Answer]
NISSIG

Q.143. With reference to the given image, why are surge suppressors used in off-line UPS?

g@ﬁ%mﬁﬁ,m—mqﬂwﬁwmwvmvﬁﬁmw

A).  |To convert AC into DC
AC &1 DC ¥ s & forg

B).  |To protect the battery from overheating
el B &1 TRA B W F9M & fog

Q). To transfer the load to a bypass AC input
dre &1 U AC $YE H TIRIHR &R & fofg

D).  |To provide surge protection in addition to the emergency power [Correct Answer]
SITATAPICI fh & SAfCINh ol GRE UM $RH b g

Q.144. Which of the three factors from the following determines the drop in armature reaction?
A. The load current.
B. The strength of the main magnetic field.
C. The strength of electric field.
D. The amount of armature winding flux.

ffaRad ¥ ¥ @19 91 99 oR® IFRER ufdfkar § ke o1 fRuiRa wxar 87
A. dIS BRe |

B. 7= Ja &9 & dmad |
C. faza &= @t e |
D. 3R IEfET Tad o A= |

A). A BandC
A,B iR C
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B). A, Cand D
A, C 3R D
Q). A,Band D [Correct Answer]
A,B 3R D
D). [B,CandD
B,C3rR D
Q.145. What is the need for calibration of measuring instruments?
A9 SYGIN P AT B FIT ATLIHAT 87
A). For accuracy and reliability [Correct Answer]
AhdT R fagad-igar & forw
B). For measuring high values
S Hei BT 7197 & forg
0. For keeping the instrument clean
IYHIT Pl ATH 3@ & o1y
D). None of these
T q BIE T
Q.146. The Sl unit of electric Capacitance is
faega enRar & SI g8 —————— ®)
A). | Ohm.
3
B). Farad. [Correct Answer]
HRS
0. Volt.
qree
D). Coulomb.
EASES]
Q.147. 1kV = volts.
1KV = ——— dice |
A). 10
B). 100
Q). 1000 [Correct Answer]
D). 100000
Q.148. In amplifiers, transistors are used for
TABRRI § ifOReR & SU—HRT ———————— &1 @ forg fbar irar 21
A). enlarging small signals. [Correct Answer]
Bic Rrdl & g1
B). reducing a signal.
RTdt &1 &9
0. converting an ac signal into dc signal.
Y Re & SR Reaa # aRafda
D). None of these
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Q.149. In a magnet, the magnetic field is strongest the magnet.

A).

B).

Q).

D).

&t gao #, e & e ASgd g9F ———————— BT ©

at the middle of
P g H

at the pole of [Correct Answer]
B gd W

all over

CORSECE]

None of these
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Q.150. Which of the following quantities remain the same in all parts of series circuit?

A).

B).

Q).

D).

frfaRaa # ¥ 19 W@ 75 sfEer ko & W wr § gHE @ 87

Current [Correct Answer]
EIRT

Voltage
drecsl

Power

wfih

Resistance
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